Entrance Ticket

Directions: Shade ONLY the feasible region for the system of inequalities on the right.
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L.3C  Linear Programming — Finding Vertices Graphically ‘ P - 3 3
9) A carpenter makes tables and chairs. Each table can be sold for a profit of $30 and cach g
chair for a profit of $10. The carpenter can afford to'spendup to42 hours per week
‘working and takes six hours to make a table and three hours to make a chair. The
carpenter has a hop and has limited room for storage. He hasonly40eubiodest &
available for irs take 5 cubic fect of storage: fortunately the tables are
collapsible and only take 4 eubic fect of storage.

a) Iden H’yth vumh] dlhlm e axes.

of tables
+* of :\n airs

b Delemuneih objcctivedumesion used to maximize the profit

qvq-ﬂ . .
30{ -+ }O ¢ ‘P P Prd" H
€} Write the cons a system of inequaliti
i Minimum number of tables:
W% Minimum number of chairs -t 2 o
w Ms Time available:

——— ‘o‘t*Bc '-l?.
A+ Yo

d) Graph the constraints on the grid. Find (and list) the vertices of the feasible region and label them
on the graph.
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Learning Target: | can find vertices
using graphing technology. page 26

1.3D Linear Programming - Finding Vertices Algebraically

Up to this point, you have worked with linear programming problems by:

) 1) Writing and graphing a system of inequalities,
Section 2) Finding the feasible region for the system,
l ';D 3) Locating the vertices on the graph of the feasible region graphically

Most real-life situations though, do not have solutions that are whole numberssuch as
the solutions for Larry’s Lawn Service and Cam’s spring planting. In situations where
the vertices are not easily found, we use algebraic methods to solve for them

Finding Vertices Using Graphing Technology

Find the vertices and shade with the

calculator.
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Hit Alpha F1, #1

Hit Alpha F3 and
use your down and
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Solutions (-1,-1), (-6,4), (4.9)
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